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QUESTION 1

Which two statements describe HiCommand Tiered Storage Manager? (Choose two.)

A. Tiered Storage Manager can migrate data within subsystems.

B. Tiered Storage Manager can migrate data between external subsystems.

C. Tiered Storage Manager can migrate data only between external subsystems.

D. Tiered Storage Manager can migrate data only between a subsystem and an external subsystem.

Correct Answer: AB

QUESTION 2

A customer would like to automate the mounting of suspended Shadowlmage secondary volumes in a Windows CCI
script. Which CCI command would be used to assign a volume to a Windows drive letter?

A. raidscan -x mount
B. raidscan -m mount
C. raidmount -x mount
D. raidmount -m mount

Correct Answer: A

QUESTION 3

On the Storage Navigator frame for a TrueCopy pair operation, the "Status" column on the primary array indicates
PSUS. What are three CCI commands that put the TrueCopy pairs in this status? (Choose three.)

A. pairsplit -r from primary
B. pairsplit -e from primary
C. pairsplit -r from secondary
D. pairsplit -S from secondary
E. pairsplit -e from secondary

Correct Answer: ACD

QUESTION 4

A customer has a Windows CCI server controlling both Universal Replicator and Shadowlmage pairs. The customer
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would like to see the status of the Universal Replicator pairs. Which command can the customer issue prior to using the
pairdisplay command to ensure only the status of the Universal Replicator pairs are shown?

A. set HORCC_MRCF=

B. unset HORCC_MRCF

C. set HORCC_MRCF=1

D. export HORCC_MRCF=1

Correct Answer: A

QUESTION 5

A customer uses TrueCopy on a database and has a disaster at the primary site. Failover to the secondary site has
occurred. What are two methods to help with the recovery? (Choose two.)

A. Use the pairsplit -E command.
B. Use the pairsplit -S command.
C. Use the horctakeover -S command.
D. Use the horctakeover -G command.

Correct Answer: BC
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